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Test:  (2020) Primary 5 Maths (Term 2) - Maris Stella
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Score: ____________

Select multiple choice answers with a cross or tick:

  Only select one answer

  Can select multiple answers

Question 1 of 27

What is the value of digit 8 in 2 189 723?

A) 80 ones 

B) 80 tens 

C) 80 hundreds 

D) 80 thousands 

Question 2 of 27

Round 284 584 to the nearest thousand.

A) 280 000

B) 284 000

C) 284 600

D) 285 000

Question 3 of 27

Which of the following could be the height of a basketball hoop at a basketball court?

A) 3m

B) 30cm 

C) 30m

D) 0.3km
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Question 4 of 27

Find the value of 48-(9-2x3)+3x9

A) 54

B) 72

C) 270

D) 432

Question 5 of 27

A) BC

B) BE

C) CD

D) DF
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Question 6 of 27

A)

B)

C)

D)

Question 7 of 27

A) 36

B) 18

C) 8

D) 4

Question 8 of 27

Randy made green paint by mixing blue paint and yellow paint in the ratio 4:5. 

He used 100ml of yellow paint. How much green paint did Randy made?

A) 800

B) 1250

C) 1800

D) 2250
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Question 9 of 27

A rectangular tank measuring 30cm by 12cm by 16cm is completely filled with water. How
much water must be poured out from the tank so that the height of the water becomes 6cm?

A) 2160

B) 3600

C) 5760

D) 7920

Question 10 of 27

Amy, Brenda and Cathy donated a sum of money in the ratio 8:5:1. Amy donated $420 more
than Cathy. How much did the 3 girls donate altogether?

A) $840

B) $1260

C) $1470

D) $1960

Question 11 of 27

A) 15

B) 20

C) 30

D) 40
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Question 12 of 27

A) 80

B) 64

C) 60

D) 32

Question 13 of 27

A) 27

B) 14

C) 13

D) 9
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Question 14 of 27

The ratio of the length of a rectangular plot if land to its width is 3:2. The perimeter of the
rectangular plot of land is 900m. Find its width 

A) 180m

B) 270m

C) 360m

D) 540m

Question 15 of 27

Dave has 3 times as many marbles as Elijah. After Dave gave away 166 marbles and Elijah
bought 108 marbles, they both had the same number of marbles. How many marbles did
Elijah have in the end?

A) 137

B) 245

C) 274

D) 411

Question 16 of 27

a) Write seven million, four hundred and eighty-nine thousand and fifty three in numerals 

Question 17 of 27

b) What is the value of 117 000 ÷ 300?

Question 18 of 27
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Question 19 of 27

Question 20 of 27
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Question 21 of 27

Question 22 of 27

Basket X had 125 fruits and Basket Y had 293 fruits at first. After an equal number of fruits
were removed from both baskets, Basket Y had 3 times as many fruits as Basket X. How
many fruits were there in basket X in the end?

Question 23 of 27

The ratio of Andrew's score to Samuel's score in a mathematics test wast 3:5. Jonathan
scored 36 marks more than Andrew and 12 marks more than Samuel. What was Andrew's
score?
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Question 24 of 27

Question 25 of 27
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Question 26 of 27

Question 27 of 27


